BERKELEY® B4TQKL S-18 AR COOLED ENGINE DRIVE SELF PRIME

Section AC/SP
Cast Iron Impeller
) ) Date March 4, 2013
Threaded Case (NPT), Mechanical Seal Construction Supersetes OVL1IE
Table |
Engine Engine Mounting Type &
B/M No. | HP Mfr. Part No. Part No.
B71546 18 VaBng;g:JaSrd H05159 Base H05248

Item Part Part
No. Description Number
1 Case, Volute H02550 /
2 Impeller M10498 800A
9 Cover, Suction L04108 22530196
14 Sleeve, Shaft M10731
40 Slinger, Water 503893
?'17 ;hlmk[.mS Thick] (As Required) :gggig ltem Part Part
73A Grai etC (.031 Thick) S04757 No. Description Number
asket, Lase . - 802B | Nut, Hex 3/8-20 (5 Req.) 523103
73A Gasket, Case (.051 Thick] S15049 8020 NUt. Hex 5/8-11 (4 Rea) $23109
73B | Gasket, Companion Flange S10364 ~ -
- 804A Weight, Clack S14842
89 Seal, Mechanical Shaft 532014
19 0-Ring M10728 804B | Washer, Clack S15325
- 810A Plug, Pipe 1/4" NPT S23717
800A | Capscrew, Hex 3/8-16x1-1/4" (7 Req) | 526828 105 Plﬁg' P;pi 1{1/4., NG i
800B | Capscrew, Hex 3/8-16x3/4" 526824 e CLaSk Rpubber e
801A | Stud, 1/2-13x1-1/2" (4 Req.) S24043 850 Flan |e Companion S15933
801B | Stud, 3/8-16x1-1/2" (4 Req.) 523995 ge. ~omp
801C | Stud, 5/8-11x2-1/2" [4 Req) 524062 NOTE: Refer to Supplement A for base configuration and
802A | Nut, Hex 1/2-13 [4 Req)) 523107 mounting hardware.

293 WRIGHT STREET, DELAVAN, WI 53115 WWW.BERKELEYPUMPS.COM PH: 888-237-5353 ORDERS FAX: 800-321-8793

’;b P E N I AI R Because we are continuously improving our products and services, Pentair reserves the right to change specifications without prior notice.

© 2013 Pentair Ltd. All Rights Reserved. S4855BK



